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RRB NTPC Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) “þyöìOyöìîûîû î,£öì”Ù»îû ›!¨öìîûîû !˜›Åy“þy þ™ÍÔîîûy‹ ›öì£wî›Å̃ Ð
þ™ÍÔî î‚öìŸîû ö×Ûþ îûy‹y !Šéöìœ˜ “¤þyîû þ™%e ²Ìí› ˜îû!¢‚£
î›Å̃ Ð

2. (a) ¦þyîûöì“þîû ”#‡Å“þ› ˜”# î¤y•!Ýþ £œ £#îûy„¤%þ”Ð ~!Ýþ ¦þyîûöì“þîû
ç!vþŸy îûyöì‹Ä ›£y˜”#îû çþ™öìîû !˜!›Å“þ £öìëûöìŠéÐ

3. (b) ›yöìëûyöìÝþy› öþ™!Ÿ ›yöìŠéîû ö”öì£ ö”…y ëyëûÐ
4. (c) ²Ìí› öîïkþ ¢‚†#!“þ x˜%!Ûþ“þ £ëû x‹y“þŸe&îû xy›öìœÐ

ö¢£z ¢öìÁ¿œöì̃ îû ¢¦þyþ™!“þ !Šéöìœ˜ ›£y„þyŸÄþ™– ßþiy˜ !Šéœ
îûy‹†,£Ð ~£z ¢öìÁ¿œöì̃ £z !e!þ™Ýþ„þ îû!‰þ“þ £ëû þ™y!œ ¦þy¡ìyëûÐ

5. (d) ¢Á±!“þ ò˜ÄyŸ˜yœ !‹ç¢yöìëûª xÄyçëûyvÅþéôé2023óéôé~îû
œy£zšþÝþy£z› xÄy!‰þ¦þöì›rÝþ !î¦þyöì† þ™%îûßþ,ñ“þ £öìëûöìŠé˜ •#îûy‹
ö›y£˜ îÄy˜y!‹ÅÐ ~îyöìîû ö›yÝþ 12!Ýþ !î¦þyöì† 21 ‹˜
¦)þéôé!îKþy˜#öì„þ þ™%îûßþ,ñ“þ „þîûy £öìëûöìŠéÐ

6. (b) £zvþz!îûëûy ¢‚öìÙÕ¡ì ë„,þöì“þ ‡öìÝþÐ ›y˜îöì”öì£îû ë„,þöì“þ !þ™_îû¢
vþzêþ™§¬ £ëûÐ ~£z !þ™_îû¢ ~„þ•îûöì̃ îû Çþyîû#ëû öëï† ëy þ™!îûþ™yöì„þ
¢£yëû“þy „þöìîûÐ

7. (c) ›y˜%öì¡ìîû ö›îû&”öì[þ „þöìŸîû&„þyîû ¢‚…Äy 33!ÝþÐ ~!Ýþ ›y˜%öì¡ìîû
ö›îû&”öì[þîû x‚Ÿ!îöìŸ¡ìÐ

8. (d) •˜yd„þ “þ!vþüê xy•y˜ë%_« x•y“%þ £œ x!:öì‹˜Ð ~£z ö›ïœ!Ýþ
x˜Äy˜Ä ö›ïöìœîû ¢yöìí ¢y•yîû’“þ ¢›öìëy‹# îy xyëû̃ #ëû îõþ˜
myîûy öëï† †àþ˜ „þöìîû íyöì„þÐ ~!Ýþ ¢„þœ ‹#öìîîû Ù»¢öì̃ îû
‹˜Ä x“þÄyîŸÄ„þ#ëû vþzþ™y”y˜Ð

9. (d) !‡ ÷“þ!îûöì“þ £y£zöìvÈþyöì‹˜ †Äyöì¢îû ²Ìöìëûy‹˜ £ëûÐ !‡ £œ
~„þ²Ì„þyîû þ™!îûöìŸy!•“þ ›y…˜– !‡éôé~îû „þ”îû ¦þyîû“þ#ëû
vþzþ™›£yöì”öìŸ ¢îÅeÐ

10. (a) ¢Á±!“þ îûyöì‹Ÿ ˜y!Áºëûyîû ˜Äy¢„þöì›îû ö²Ì!¢öìvþrÝþ !£öì¢öìî
!˜ë%_« £öìœ˜Ð !“þ!˜ ~£z þ™öì” þþ™)îÅî“Åþ# þ™”y!•„þyîû# ö”îëy˜#
ö‡yöì¡ìîû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

11. (a) !œÝþ›yöì¢îû vþzê¢ £œ ÷ŸîyœÐ ÷Ÿîyœ ‹œ‹ ¢%öì„þ!w„þ
~„þöì„þy¡ì# îy îýöì„þy¡ì# ‹#îÐ ëyîûy ¢yöìœy„þ¢‚öìÙÕöì¡ìîû ›y•Äöì›
Ÿ„Åþîûy ‹y“þ#ëû …y”Ä ÷“þ!îû „þöìîûÐ

12. (b) ¦þyîûöì“þîû £!îûëûy˜y îûyöì‹Ä î˜¦)þ!›îû þ™!îû›y’ ¢îöì‰þöìëû „þ›Ð
î˜¦)þ!›îû þ™!îû›yöì’ ¦þyîûöì“þîû ›öì•Ä ²Ìí› ›•Ä²Ìöì”ŸÐ ¦þyîûöì“þîû
ö›yÝþ xyëû“þöì̃ îû 21.74 Ÿ“þy‚Ÿ î˜¦)þ!› myîûy xyî,“þÐ

13. (c) †› ‰þyöì¡ìîû vþzþ™ë%_« ›y!Ýþ £œ ö”yx¤yŸ ›y!ÝþÐ †› ‰þyöì¡ì ¦þyîûöì“þ
vþz_îû²Ìöì”Ÿ ²Ìí› ç ›•Ä²Ìöì”Ÿ !m“þ#ëûÐ †› ‰þyöì¡ì 50éôé100
ö¢!› î,!ÜTþ™y“þ ²Ìöìëûy‹˜Ð

14. (a) !îû£y¨ ‹œ!î”%Äê ö„þw!Ýþ vþz_îû²Ìöì”öìŸ xî!ßþi“þÐ ~£z
‹œ!î”%Äê ö„þw!Ýþ !îû£y¨ ˜”#îû çþ™îû xî!ßþi“þÐ

15. (c) ²Ì•y˜›sþf # ˜öìî ûw ö›y”# 2019 ¢yöìœîû 15 xy†ÞÝþ
ò‹œ‹#î˜ !›Ÿ˜ó ‰þyœ% „þöìîû!Šéöìœ˜Ð

16. (c) ¦þyîû“þ
17. (c) öœy„þ›y˜Ä !“þœ„þ

xy¢œ ˜y› îyœ†Dy•îû !“þœ„þÐ öœy„þ›y˜Ä „þíyîû xíÅ ‹˜†’
myîûy †,£#“þ ö˜“þyÐ

18. (a) ˜yDy þ™îÅ“þ!Ýþ xîßþiy˜ „þîûöìŠé „þyÙÂ#îû !£›yœöìëûÐ ~!Ýþ þ™!Øþ›
!£›yœöìëûîû xhsþ†Å“þÐ ‹Á¿% ç „þyÙÂ#îû îûyöì‹Ä xî!ßþi“þÐ

19. (a) !¦þÝþy!›˜ B12 ~îû îûy¢yëû!˜„þ ˜y› £œ ¢yëûyöì̃ yöì„þyîyœy!›˜Ð
!¦þÝþy!›˜ B12 ‹öìœ oyîÄÐ

20. (a) ¢Á±!“þ xy£z!¢!¢óéôéîû ö‰þëûyîû›Äy˜ !£¢yöìî !˜ë%_« £öìëûöìŠé˜
‹ëû Ÿy£Ð !ë!˜ ‰þœ!“þ îŠéöìîûîû ˜öì¦þÁºîû ›yöì¢ þ™)îÅî“Åþ#
þ™”y!•„þyîû# ö@ùÌ† îy„Åþöìœóîû S!˜vþz!‹œÄyuþVé ßþiœy!¦þ!¡ì_«
£öìœ˜Ð

21. (c) !þ™Ýþ¢ £z!uþëûy xÄyQ ‰þyœ% £ëû 1784 ¢yöìœÐ
22. (d) x!ßþi›Iy
23. (c) xy£z̃  x›y˜Ä xyöì̈ yœöì̃ îû ¢›ëû ¦þyîûöì“þîû †¦þ˜Åîû ö‹˜yöìîûœ

!Šéöìœ˜ œvÅþ xyîûvþz£z̃ Ð
24. (c) 1799 !…ÊÞÝþyöì· 22 ›y‰Åþ !‰þîûßþiyëû# îöì̈ yîhßþ ²Ìî“Åþ˜ „þîûy £ëûÐ

œvÅþ „þ’Åçëûy!œŸ îy‚œyëû ²Ìí› !‰þîûßþiyëû# îöì̈ yîhßþ ²Ìî“Åþ˜
„þöìîû̃ Ð

25. (a) ýîû&˜ £z!uþëûy „þ“Å,þ„þ ²Ì„þy!Ÿ“þ ¦þyîûöì“þîû •˜# îÄ!_«öì”îû
“þy!œ„þyëû ²Ìí› ßþiyöì̃  îûöìëûöìŠé̃  ö†ï“þ› xy”y!˜Ð ~£z “þy!œ„þyëû
!m“þ#ëû ßþiyöì̃  îûöìëûöìŠé˜ ›%öì„þŸ xyÁºy!˜Ð

26. (c) xÄyöì̃ !œvþy
27. (c) ¦þyîû“þ#ëû ¢‚!î•yöì˜îû ²Ìhßþyî˜y!Ýþ îû!‰þ“þ £öìëû!Šéœ þ™![þ“þ

‹ç£îûœyœ ö˜öì£îû&îû myîûyÐ
28. (a) îÍÔyœ ö¢˜

£z!˜ !Šéöìœ˜ îy‚œyîû ö¢˜ îûy‹î‚öìŸîû ‰þ“%þíÅ îûy‹yÐ 1160-
1179 ¢yœ þ™ëÅhsþ !“þ!˜ ö¢˜ î‚öìŸîû îûy‹c „þöìîû̃ Ð

29. (b) ¢‚ßþ,ñ“þ „þöìœ‹ ²Ì!“þ!Ûþ“þ £ëû 1824 !…ÊÞÝþyöì·Ð
30. (a) ¢Á±!“þ 2024 ¢yöìœîû ›Äy†¢y£z¢y£z þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìœ˜

‹yþ™yöì̃ îû !›ëûy‹y!„þ £yëûyçÐ
31. (c) xÄy¢!þ™!îû̃

¢‚öì„þ“þéôô C9H8O4 ›)œ“þ ‹µîû ç îÄíy˜yŸ„þ !£öì¢öìî „þy‹
„þöìîûÐ

32. (c) ç!vþŸy
xÄyœ%!›!˜ëûy› ~î‚ †Äy!œëûy›éôé~îû ²Ì•y˜ vþzê¢ £œ î:y£zÝþÐ

33. (c) !šÊþ!‹‚ ›Äy!:çîû œî˜ ~î‚ îîûöìšþîû !›×’Ð
34. (c) „þœ„þy“þyëû ¢%!²Ì› ö„þyÝÅþ ‰þyœ% „þöìîû̃  œvÅþ ö£!ÞÝþ‚¢Ð
35. (d) xyöìœy„þ “þ!vþüê !e«ëûy
36. (c) ¢¤yç“þyœ !îöìoy£ îy ýœéôé~îû ¢)‰þ˜y £ëû 1855 ¢yöìœ

þ™!Øþ›îöìDîû ›%!ŸÅ”yîy” ç !î£yöìîûîû ¦þy†œþ™%îû ö‹œyëûÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 7  ˜öì¦þÁºîû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

37. (c) “,þ“þ#ëû þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yîû ¢›ëû„þyœ 1961 ¢yöìœîû
1 ~!²Ìœ öíöì„þ 1961 ¢yöìœîû 31 ›y‰Åþ þ™ëÅhsþÐ

38. (a) ~›y£zöìœ‹ vþzêöì¢‰þ„þ!Ýþ ö²ÌyöìÝþyöì‹yëûy îy xy”Ä²Ìy’# öíöì„þ
hßþ˜Äþ™yëû# ²Ìy’#öì“þ þ™yçëûy ëyëûÐ

39. (c) 1784 ¢yöìœîû 15 ‹y˜%ëûy!îû ¢Äyîû vþz£z!œëûy› ö‹yª !îÊ!ÝþŸ
¦þyîûöì“þîû “þ”y˜#hsþ˜ îûy‹•y˜# „þœ„þy“þyîû öšþyÝÅþ vþz£z!œëûyöì›
~£z ¢‚ßþiy!Ýþ ²Ì!“þÛþy „þöìîû̃ Ð

40. (b) 1935 ¢yöìœîû ¦þyîû“þ Ÿy¢˜ xy£z̃ öì„þ ”y¢öìcîû ~„þ ˜“%þ˜
x•Äyëû îöìœ x!¦þ!£“þ „þöìîûöìŠé˜ ‹ç£îûœyœ ö˜öì£îû&Ð

41. (b) îûy‹#öìîîû ßþf#îû ¢hsþy˜ ôôôé îûy‹#öìîîû ¢hsþy˜Ð ›!£œy!Ýþîû ›y
£œ îûy‹#öìîîû ¢hsþyöì˜îû !”!”›yÐ ¢%“þîûy‚ ›!£œy!Ýþ £œ
îûy‹#öìîîû ßþf#Ð

42. (d) P O S I

K U Q R

T I O N

L M G R
+2 +2 +2 +2 –2 –2 –2 –2

P E R

T G R

S O N

L M Q
+2 +2 +2 –2 –2 –2

43. (b) W
23

23

I
9

11


N
14

17


T
20

24


E
5

10


R
18

24
+2 +3 +4 +5 +6

A
1

1

U
21

23


T
20

23


U
21

25


M
13

18


N
14

20
+2 +3 +4 +5 +6

44. (a) B – 2
A – 1
R – 18
A – 1
S – 19
A – 1
T – 20
BARASAT = (2 + 1 + 18 + 1 + 19 + 1 + 20)

   = 62

45. (c) 64 36 8 6 14

144 16 12 4 16

324 841 18 29 47

   

   

   

46. (b) Red = 2, horse = 7, is = 3, sleeping = 5
47. (a) ¢%…!î¨îû !¢‚ ¢%…% !£›y‰þœ ²Ìöì”öìŸîû ›%…Ä›sþf#– îy!„þîûy

îûy‹Äþ™yœÐ
48. (c) 6 × 2 – 1 = 11

11 × 2 – 2 = 20

49. (c) Ink !”öìëû Pen ¦þ!“Åþ £ëûÐ

Blood !”öìëû Vein þ™!îûþ™)’Å £ëûÐ

50. (c)
F I L M A D G H
6 9 12 13 1 4 7 8

–5
–5
–5
–5

M I L K H D G F
13 9 12 11 8 4 7 6

–5
–5
–5
–5

51. (b) R +3 U Z+5 +7 G
G
I

+3
+3

J
L

O
Q

+5
+5

+7
+7

V
X

!„þlsþ B +4 F J+4 +7 Q

52. (c) 42 £ëû 3 ~îû MultipleÐ

53. (a) ö„þŸî

¢%̃ #œ
öŠéöìœ

öîy˜ !¢›îûy˜ ¦þy£z ö²Ì›

¢#“þy
ö›öìëû

›yîû&!“þ
›y›y

¢%̃ #œ £œ ›y•öìîîû …%vþü“%þöì“þy ¦þy£zÐ
(54-55) :

B E G C A D/F D/F

54. (a)
55. (c)
(56-57) :

 

F

B

C

D

A

E

îy
›!

”„
þ

vþy
˜!

”„
þ

56. (b) vþy˜!”öì„þîû öŸöì¡ì F îöì¢ xyöìŠéÐ

57. (c) îy›!”öì„þîû öŸöì¡ì E îöì¢ xyöìŠéÐ

58. (b)  5 6 4
10

12
 


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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

~„þ£z¦þyöìî–  6 7 5
10

21
 



~î‚ 
 4 8 10

10
32

 


59. (d) öëöì£“%þ ò•)›þ™yëû#ó ›•Äþ™”!Ýþ !îî,!“þöì“þ ~„þîyîûç î!^ùÝþ“þ £ëû!˜–
“þy£z ö„þyöì̃ y !˜’Åyëû„þ !¢kþyhsþ †,£#“þ £öìî ˜yÐ

60. (c) 22 + 1 = 5 and 22 + 1 = 5
Total = 5 + 5 = 10

61. (c) Yellow

Yellow


Blue

Rose


Orange

Red


‡!vþüîû „¤þyÝþyîû !”öì„þ ‡%!îûöìëû ¢˜y_« „þîûy £öìëûöìŠéÐ

62. (b)

F– J+ L

T+ R–

 F £ëû L ~îû öîy˜Ð
63. (c) (x2 – 1) : [(x + 4)2 + 1)]

 168 = (132 – 1)
¢%“þîûy‚ ¢‚…Äy!Ýþ £œ = [(13 + 4)2 + 1] = 290

64. (b) (3)3 – 3 = 27 – 3 = 24
(4)3 – 4 = 64 – 4 = 60
 (6)3 – 6 = 216 – 6 = 210
(7)3 – 7 = 343 – 7 = 336

65. (b) C  3
(3 + 1)2 = 16
F = 6
(6 + 1)2 = 49

66. (a) 40 !›Ýþyîû

40 !›Ýþyîû

20 !›Ýþyîû
30 !›Ýþyîû

A

B C

DE

Starting Point

AE = (AB – BE) = (30 – 20) = 10
67. (b) e«›!Ýþ £œ ­ +1, +8, +27, +64, +125 xíÅyê +13,

+23, +33, +43, +53.
 !˜öì’Åëû þ™” = 8 + 23 = 8 + 8 = 16

68. (b) e«›!Ýþ £œ ­ +3, +6, +11, +18, .... xíÅyê + (12 +
2), + (22 + 2), + (32 + 2), + (42 + 2), ....
 !˜öì’Åëû þ™” = 78 + (52 + 2) = 78 + 27 = 105

69. (b) ²Ì”_ ö×!’îû þ™” ­ 13 – 1, 23 – 1, 33 – 1, 43 – 1,
....
 !˜öì’Åëû þ™” = 53 – 1 = 124

70. (c) e«›!Ýþ £œ ­ +4, +8, +16, +32, ....
 !˜öì’Åëû þ™” = 63 + 64 = 127

71. (a) •!îû– a = 3 ö¢!›– b = 4 ö¢!› ~î‚ c = 5 ö¢!›

 s = 
1
2 (a + b + c) = 

1
2 (3 + 4 + 5) = 6  ö¢!›

   s s a s b s c    

6 3 2 1 36 6      ö¢!›2

72. (c) îûÁºöì¢îû öÇþešþœ

1 2
1 d d
2

    
 

 
1
2 × 18 × x = 144

 9x = 144  x = 16
¢%“þîûy‚ „þöì’Åîû ÷”‡ÅÄ = 16 ö¢!›

73. (b) ¢îûœ ¢%” = `
1000 5 2

100
  

 
 

= ` 100

‰þe«î,!kþ ¢%” = `
251000 1 1000

100
       

   

   = `
21 211000 1000
20 20

      
  

   = `
205

2
 
 
 

 = ` 102.50

 !˜öì’Åëû þ™yíÅ„þÄ = ` (102.50 – 100) = ` 2.50
74. (b) ¢›öì„þy’# ¢›!mîyý !e¦%þöì‹îû „þ’Å AC = 5 ö¢!›

A

B C

x 5 ö¢!›

•!îû– AB = BC = x ö¢!› “þy£öìœ
x2 + x2 = 52  2x2 = 25

 x2 
25
2



!e¦%þöì‹îû öÇþešþœ 21 1x x x
2 2

         
   

î†Åöì¢!›

1 25 25 6.25
2 2 4

     
 

 î†Åöì¢!›

75. (a) •!îû– !˜öì’Åëû xíÅ = ` xÐ “þy£öìœ
315 650052x 1 x

100 100
     
 

23 23 23 650052x x
20 20 20 100

       
 

  65005212167x 8000x 8000
100

   
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

 650052 8000x 156 80 12480
100 4167

       
 

76. (d) 2 îŠéöìîûîû ¢%” = ` (3000 – 2900) = ` 100

 8 îŠéöìîûîû ¢%” = `
1100 8
2

   
 

= ` 400

 ›)œ•˜ = ` (2900 – 400) = ` 2500
¢%” = ` 400, ¢›ëû = 8 îŠéîû

¢%öì”îû £yîû 
100 400 % 2%
2500 8

    

77. (d) ”%öì•îû îy!„þ þ™!îû›y’ 
na ba

a
   

 
~…yöì̃  a = 50, b = 5 ~î‚ n = 3

3 3 350 5 45 950 50 50
50 50 10
               

     

50 9 9 9 729 36.45
10 10 10 20
  

  
 

!œÝþyîû

78. (b) ößþËyöì“þîû !”öì„þ †!“þ 
1 60

10
   
 

= 6 !„þ!›/‡^ùÝþy

ößþËyöì“þîû !îþ™îû#öì“þþ †!“þ 
1 60

30
   
 

= 2 !„þ!›/‡^ùÝþy

ößþËyöì“þîû †!“þ =
1
2 (6 – 2) = 2 !„þ!›/‡^ùÝþy

79. (a) ²Ìí› †!“þ 150 10
15

  !›Ýþyîû/ö¢öì„þuþ

•!îû– !m“þ#ëû öÝþÆöì̃ îû †!“þ = x !›Ýþyîû/ö¢öì„þuþ
 …¤%!Ýþ þ™yîû „þîûöì“þ ¢›ëû œyöì†
”%!Ýþ öÝþÆöì̃ îû ÷”‡ÅÄ/xyöìþ™!Çþ„þ †!“þ

150 1508
10 x


 


 80 + 8x = 300

8x = 220
220 55x
8 2

   !›Ýþyîû/ö¢öì„þuþ

55 18 99
2 5

    
 

 !„þ!›/‡^ùÝþy

80. (a) •!îû– öÝþÆ̃  ”%!Ýþ A öíöì„þ x !„þ!› ”)îûöìc !›!œ“þ £öìîÐ “þy£öìœ–

 200 xx 1
80 100 2


 

 5x – 4(220 – x) = 200
 9x = 1080
 x = 120
¢%“þîûy‚ öÝþÆ̃  ”%!Ýþ A öíöì„þ 120 !„þ!› ”)îûöìc !›!œ“þ £öìîÐ

81. (c) •!îû– ößþËyöì“þîû öî† = x !„þ!›/‡^ùÝþy

ößþËyöì“þîû !”öì„þ öî† 
28 x
3

   
 

!„þ!›/‡^ùÝþy

ößþËyöì“þîû !îþ™îû#öì“þ †!“þ 
28 x
3

   
 

!„þ!›/‡^ùÝþy

28 283 x x
3 3

         
   

28 564x 28
3 3

     
 

14 2x 4
3 3

  

¢%“þîûy‚ ößþËyöì“þîû †!“þ 
24
3

  !„þ!›/‡^ùÝþy

82. (c) ²Ìí› ”)îûc = 45 !„þ!›– †!“þöìî† = 20 !„þ!›/‡^ùÝþy

~£z ”)îûc x!“þe«› „þîûöì“þ †,£#“þ ¢›ëû 
45 9
20 4

  ‡^ùÝþy

îy!„þ ”)îûc = (90 – 45) = 45 !„þ!›

îy!„þ ¢›ëû 
9 33
4 4

    
 

 ‡^ùÝþy

~£z ”)îûöìcîû ‹˜Ä †vþü †!“þöìî†

 
45 45 4 60

3 / 4 3
     

 !„þ!›/‡^ùÝþy

83. (d) 3 !›!˜öìÝþ ¦þöìîû 
 3 5 41 1 93

12 15 60 20
     

 

îy!„þ x‚Ÿ 9 111
20 20

    
 

~£z x‚Ÿ Q ˜œ myîûy ¦þîûy £öìëûöìŠéÐ

1
15 x‚Ÿ ¦þîûy £ëû = 1 !›!˜öìÝþ

11
20 x‚Ÿ ¦þîûy £ëû 

11 33 115 8
20 4 4

     
 

 !›!˜öìÝþ

84. (d) •!îû– öÝþÆöì̃ îû ÷”‡ÅÄ = x !›ÝþyîûÐ “þy£öìœ

 110 x x
40 30




 3300 + 30x = 40x
 10x = 3300
 x = 330 !›Ýþyîû

85. (a) 12 ‹˜ ›!£œy „þy‹ öŸ¡ì „þîûöìî = 32 !”öì̃

16 ‹˜ ›!£œy „þy‹ öŸ¡ì „þîûöìî 
12 32 24

16


   !”öì̃

~„þ£z „þy‹ 15 ‹˜ öœy„þ x !”öì̃  „þöìîû
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xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

²ÌÙÀy˜%¢yöìîû–
1 1 1
x 24 6
 

1 1 1 3 1
x 6 24 24 8
   

 x = 8 !”˜

 10 ‹˜ þ™%îû&¡ì „þy‹ öŸ¡ì „þîûöìî
15 8 12

10


  !”öì̃

86. (b) A ~îû 1 !”öì̃ îû „þy‹ 
1

12


B ~îû 1 !”öì̃ îû „þy‹ 
1

12
  ~îû 160%

1 160 2
12 100 15
    
 

 „þy‹!Ýþ öŸ¡ì „þîûöì“þ B ~îû ¢›ëû œyöì†
15 17
2 2

  !”˜

87. (b) •!îû– A ~îû ›)œ•˜ = x Ýþy„þyÐ “þy£öìœ
A, B ~î‚ C ~îû ›)œ•öì̃ îû x˜%þ™y“þ
= (x × 12) : (2x × 6) : (3x × 4)
= 12x : 12x : 12x = 1 : 1 : 1

 C ~îû ¦þy† 
127000
3

   
 

= 9000 Ýþy„þy

88. (a) •!îû– ¢‚…Äy=!œ £œ A, B ~î‚ C
“þy£öìœ A : B = 3 : 5 ~î‚ B : C = 5 : 8
 A : B : C = 3 : 5 : 8
•!îû– ¢‚…Äy=!œ £œ ëíye«öì› 3x, 5x ~î‚ 8x
“þy£öìœ– 3x + 5x + 8x = 64
 16x = 64  x = 4
 xþ™îû ¢‚…Äy = 5x = (5 × 4) = 20

89. (b) •!îû– e«ëû›)œÄ = 100 Ýþy„þyÐ “þy£öìœ •yëÅ›)œÄ = 120 Ýþy„þy
Šéyvþü = 20%

 !îe«ëû›)œÄ 
80 120

100
   
 

= 96 Ýþy„þy

 Çþ!“þ = (100 – 96) = 4%
90. (c) •!îû– •yëÅ›)œÄ = 100 Ýþy„þy

“þy£öìœ !îe«ëû›)œÄ = 100 Ýþy„þyîû 110% ~îû 110%

110 110100 121
100 100

     
 

Ýþy„þy

 ~„þ„þ ›)œÄ î,!kþ = 21%
91. (d) •!îû– ²Ìí› îŠéöìîûîû Öîû&öì“þ ‹˜¢‚…Äy = x

“þy£öìœ 
5 5x 1 1 7980

100 100
          
   

21 19x 7980
20 20

   

20 20x 7980 8000
21 19

      
 

 ²Ìí› îŠéöìîûîû Öîû&öì“þ ‹˜¢‚…Äy !Šéœ = 8000 ‹˜

92. (d)
 4 44 5 555 532 2 2

243 3 3

               
       

4 4 4

4

2 3 3 81
3 2 2 16


         
   

93. (b) 5 1 5 1(a b)
5 1 5 1
 

  
 

   
 

 
2 2

5 1 5 1 2 5 1
3

5 1 4

   
  



5 1 5 1(a b)
5 1 5 1
 

  
 

   
 

2 2
5 1 5 1 4 5 1 5,  ab 1

5 1 4

    
   



 
 

 
 

 
 

22 2

22 2

a ab b a b ab 9 1 8 4
9 3 6 3a ab b a b 3ab

    
   

   
94. (a) •!îû– ö›öìëûîû îëû¢ = x îŠéîû ~î‚ ›#’yîû îëû¢ = 8x îŠéîû

8x 8 10
x 8 3





 24x + 24 = 10x + 80

 14x = 56  x = 4
›#’yîû î“Åþ›y˜ îëû¢ = 8x îŠéîû = (8 × 4) = 32 îŠéîû

95. (c) ²Ì”_ îûy!Ÿ  
55

1 3
3/5 5x




 
        

55
3 1 3

5 5x


  

 

 
      
    

 
 

5

53
25 3x

   
  

 
 
  

1 5
15x x x

  
   

96. (d) ö›yÝþ ¦þyîû î,!kþ = (1 × 5) = 5 !„þ@ùÌy
˜“%þ˜ îÄ!_«îû ç‹˜ = (60 + 5) = 65 !„þ@ùÌy

97. (b) ~…yöì̃  (12 – 7) = (15 – 10) = (16 – 11) = 5
 !˜öì’Åëû ¢‚…Äy = (12, 15, 16 ~îû œ¢y=V – 5
= (2 × 2 × 3 × 5 × 4) – 5
= (240 – 5) = 235
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98. (b) 12, 15, 18, 27 ~îû œ¢y= = (3 × 2 × 3 × 2 ×
5 × 3) = 540
‰þyîû xöìBþîû î,£_› ¢‚…Äy = 9999
9999 ö„þ 540 !”öìëû ¦þy† „þîûöìœ ¦þy†öìŸ¡ì £ëû = 279
 !˜öì’Åëû ¢‚…Äy = (9999 – 279) = 9720

99. (b) 2 îŠéîû þ™îû ‹˜¢‚…Äy

25 848600 1 1
100 100

          
   

——————

5 2348600 55890
4 25

     
 

100.(d) ˜œ!Ýþ 1 ‡^ùÝþyëû ¦þ!“Åþ „þöìîû 
1
8



S˜œ + !ŠéoV 1 ‡^ùÝþyëû ¦þ!“Åþ „þöìîû 
1

10


!Šéo 1 ‡^ùÝþyëû „þyëÅ „þöìîû 
1 1 1
8 10 40

    
 

¢%“þîûy‚ !Šéo!Ýþ ¦þ!“Åþ ö‰þïîyF‰þyöì„þ 40 ‡^ùÝþyëû …y!œ „þöìîû ö”öìîÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


